" Earth and Space |

Learning Objective: B =
To learn about how Earths tnlt
~ creates seasons.
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. W'ha't' t‘ime”Of_' yeak S it right now?

How do you
Know'?
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The year is spht up into four seasons based on changes we
© experience at different tlmes of year. |

Sprmg *' — Smmer

. Each season is
around three
months long.
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' _ _' r 'Sprlng in the UK S  usually between | ‘

March and May.

B The days are slowly getting longer '
. and the weather becomes warmer.

Plants and flowers may slowly start to -
- grow again 2s there is more stnlight and '
less frosty weather.
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Summer

Summer n the UK is usually between June
~and August.
The days are long and the weather s

warm. Between 20t-22" june the longest

day of the vear will occur (the day wnth
- the most sunlight). '

' ~This |s called the summer solstice. This day.

can be around 16h 38m long

www.planbee.ggm
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Autumn

_ ~ Autumn in the UK S usually-betweén

 September and November.
The days begin to-get shorter and the
weather begms to cool down

| Plants, like some trees, react to getting - '

- less sunlight by losing their leaves or
flowers.
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1 Wmter in the UK is usually between

‘Decenber and February. -

BNG The days are short and the weather is cold :
The winter solstice {arou nd 220 December) 7
-+ s the.shortest day of the year. It can be

just /h 49m Iong in London| ) e

- If the summer solstice is 16h 38m and the winter
solstice is 7h 49m, what is the difference in time -
between the longest and shortest day? $Q;\i" .
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The difference

would be
8h 49m.

- But what causes the length of the days to

change throughout the year?
Is it the same thing that changes the
weather between seasons?

&
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" The axis that Earth rotates around IS tnlted by 235°

- This means that places on the planet can be slightly tilted
_._towards the Sun (the red triangle), or slightly tilted away from”
Cthe Sun (the yellow trlangte) at dlfferent tlmes of year '
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As Earth orbits the Sun, the tilt in'the‘ axis changes how much,
B  location s tilted towards or away from the Sun.

 Remenmber Earth
s still rotating
once every 24 -
hours.
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“When a part of the planet is tilted towards the Sun; it
Will receive more sunlight ‘and be in the lit part of the .

planet for Ionger as lt rotates A——
Which season is e
| this? e
K I\
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When titted towards the Sun, the location wnll
expernence summer' '

~This diagram shows the
- Northern Hemisphere (which -
~ thered triangle's in) in
- summer. What season will it
~ be in the Southern
Hemisphere (yellow
trlangle)’?

| 629 | emlsher e noun: hahc of a sphere. Earthls Spllt mto the | 1

B S Northern Hemisphere and Southern Hemisphere by the equator.
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When tllted away from the Sun, the location wnll
- experlence wmter' ‘

~ This diagram is showing
~ the Southern Hemisphere
in winter! It is tilted
away from the Sun.

<5> - What will it be like in the Southern Hemisphere at
_ dCf : this point in Earth's orbit?

www.planbee.g;gm
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e T A

At certain- pomts in Earth's orblt nenther the

' Northern or Southern Hemlsphere S partlcularly

g tnlted towards or away from the Sun.

Which season will the Northern Hemlsphere be
experiencing at the point in the diagram above?

R
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Reimmer . Wintery?,

When there iS n() S|gn|ﬂcant t ||t By ' gl
towards or away from the Sun, it '
' will elther be spring or autumn

In the dlagram above the Northern Hemisphere will be in autumn.
It is moving from a point in Earth's orbit where it was tilted
towards the Sun (summer), to a point where it will be tilting away -
. <5> . from the Sun (winter).
Cﬁ It will be the opposnte (spring) for the Southern HemnsPhere ' $@\~
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3 Wthh season wull |t be for the Southern B
B o i Hemlsphere in thns dlagram? e ’@zﬁ'

WWW. lan ee.
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&- It would be winter for the Southern Hemlsphere i
<;,< in thls dlagram It is tilted away from the sun. gg}

_p_b_cg_
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Wthh season will it be for the Southern
Hemlsphere in this dlagram’?

WWW. planbee com



http://www.planbee.com

1 It would be autumn! It's nelther tnlted towards or =
C,é away from the, Sun and iS moving towards the winter, %@“
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Which 'season'
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It S wmter for the Northern Hemlsphere It s tllted
L, away from the Sun. e

WWW. lan ee.com
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e 'W'hat' f Earth’s _ax_is- had no tilt?.
~ Who do you agree with?

We would only have winter and
summer.

- We would have random seasons

throughout the year.
We wouldn't _ . Y .

have any
- 5easons at all.
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* If Earth's axis had no tilt, there would not be any
B Slgmﬁcant change in a Iocatlons tilt towards or away
-~ from the Sun as Earth orbits it.
It would always be like autumn/
'spring in each location and the
weather and length of the days
~wouldn't vary much.

6> . » ‘. | ;‘II | r B ‘ “WE WOUldﬂ,t have any Seasons at a“.” o .. |
| dC,é S P Well done if you agreed with mel %@“& .

WWW.planbee.com
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Plenary .

This graph shows the

* length of days in the
- UK throughout the
year.

~What do you notice?

Time of day

Average hour'rs ot d_aylight :

B Dayiight 0 Twiight
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Plenary 3 ~Average hours of daylight

The daysare T .- What do you
‘shorterinthe -+ % think these
~winter months . .« . " notches in the
~compared with' graph are?
- the summer.

Time of day

Twilight |
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pl@ﬂaf‘ V. L i ' -Average hours of dkay-light' -

' These notches show the .

practlce_ of Daylight Savmgs
Tme (DST).

Time of day

- . Ijay'light | 2 Twilight |

~ This is where the whole country will
move their clocks forward one hour

= at the end of March and backwards
- one hour at the end of October.
%
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~ Because 'the*days are longer in the .
' 'Summe{* months, DST is used to make.
- the most of the daylight. -
: Durmg the winter, when we do not
 use DST, we call it Standard Tme

Many electronic devices change the
time automatically for us at Zam.
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Plenary

“Putting the clocks forward one

~hour for, summer means the_re |

~ will be more daylight inthe . .

- evening (19:00—20:00), when” =
people leave work and school.
‘This is instead of having an
“extra hour of sunlight in the

 early morning (05:00—06:00)

~- when most people will be

<-9. - sleepmg | R ey
A T B

._Average. hours of'daylight -

Time of day

| Twilight
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Plenary

~Not all countries use
DST. It is used mostly in
places which are further
“away from the équator.
“This can mean that some
~ countries switch
between timezones

—~ &

rdépénding f they are rinr_ - o . DST USEd
é DSTorrot. +  E®WDSIno Ionger wed -
<:,< il el DST has never been used -
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